
� No.254A余両方-5-1 �

No.254A余両方-5-1 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 2.9923÷ 0.082 (2) 2.7172÷ 0.089

(3) 7032.6÷ 6.8 (4) 6798.7÷ 0.78

(5) 895.14÷ 2.7

� 13th-note �



� No.254A余両方-5-1 �

No.254A余両方-5-1 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 2.9923÷ 0.082

36.49 · · · 0.00012

(2) 2.7172÷ 0.089

30.53 · · · 0.00003

(3) 7032.6÷ 6.8

1034 · · · 1.4

(4) 6798.7÷ 0.78

8716 · · · 0.22

(5) 895.14÷ 2.7

331.5 · · · 0.09

� 13th-note �



� No.254A余両方-5-2 �

No.254A余両方-5-2 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 976.79÷ 0.16 (2) 95.491÷ 0.034

(3) 103.06÷ 6.4 (4) 1855÷ 0.59

(5) 877.33÷ 5.7

� 13th-note �



� No.254A余両方-5-2 �

No.254A余両方-5-2 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 976.79÷ 0.16

6104 · · · 0.15

(2) 95.491÷ 0.034

2808 · · · 0.019

(3) 103.06÷ 6.4

16.10 · · · 0.02

(4) 1855÷ 0.59

3144 · · · 0.04

(5) 877.33÷ 5.7

153.9 · · · 0.1

� 13th-note �



� No.254A余両方-5-3 �

No.254A余両方-5-3 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 405.82÷ 7.2 (2) 53.704÷ 0.58

(3) 4011.4÷ 5.9 (4) 248.48÷ 0.67

(5) 380.46÷ 0.73

� 13th-note �



� No.254A余両方-5-3 �

No.254A余両方-5-3 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 405.82÷ 7.2

56.36 · · · 0.028

(2) 53.704÷ 0.58

92.59 · · · 0.0018

(3) 4011.4÷ 5.9

679.8 · · · 0.58

(4) 248.48÷ 0.67

370.8 · · · 0.044

(5) 380.46÷ 0.73

521.1 · · · 0.057

� 13th-note �



� No.254A余両方-5-4 �

No.254A余両方-5-4 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 11.911÷ 0.069 (2) 928.6÷ 6.3

(3) 698.04÷ 0.83 (4) 413.24÷ 0.69

(5) 2.0063÷ 0.015

� 13th-note �



� No.254A余両方-5-4 �

No.254A余両方-5-4 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 11.911÷ 0.069

172.6 · · · 0.0016

(2) 928.6÷ 6.3

147.3 · · · 0.61

(3) 698.04÷ 0.83

841.0 · · · 0.01

(4) 413.24÷ 0.69

598.8 · · · 0.068

(5) 2.0063÷ 0.015

133.7 · · · 0.0008

� 13th-note �



� No.254A余両方-5-5 �

No.254A余両方-5-5 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 3691÷ 0.75 (2) 19.037÷ 0.093

(3) 482.95÷ 0.25 (4) 482.08÷ 0.43

(5) 829.31÷ 0.41

� 13th-note �



� No.254A余両方-5-5 �

No.254A余両方-5-5 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 3691÷ 0.75

4921 · · · 0.25

(2) 19.037÷ 0.093

204.6 · · · 0.0092

(3) 482.95÷ 0.25

1931 · · · 0.2

(4) 482.08÷ 0.43

1121 · · · 0.05

(5) 829.31÷ 0.41

2022 · · · 0.29

� 13th-note �



� No.254A余両方-5-6 �

No.254A余両方-5-6 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 795.35÷ 0.18 (2) 67.59÷ 0.032

(3) 77.768÷ 0.092 (4) 382.99÷ 0.46

(5) 45.682÷ 0.21

� 13th-note �



� No.254A余両方-5-6 �

No.254A余両方-5-6 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 795.35÷ 0.18

4418 · · · 0.11

(2) 67.59÷ 0.032

2112 · · · 0.006

(3) 77.768÷ 0.092

845.3 · · · 0.0004

(4) 382.99÷ 0.46

832.5 · · · 0.04

(5) 45.682÷ 0.21

217.5 · · · 0.007

� 13th-note �



� No.254A余両方-5-7 �

No.254A余両方-5-7 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 416.56÷ 8.4 (2) 189.96÷ 6.6

(3) 670.13÷ 0.17 (4) 3.8434÷ 0.066

(5) 2738.7÷ 7.4

� 13th-note �



� No.254A余両方-5-7 �

No.254A余両方-5-7 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 416.56÷ 8.4

49.59 · · · 0.004

(2) 189.96÷ 6.6

28.78 · · · 0.012

(3) 670.13÷ 0.17

3941 · · · 0.16

(4) 3.8434÷ 0.066

58.23 · · · 0.00022

(5) 2738.7÷ 7.4

370.0 · · · 0.7

� 13th-note �



� No.254A余両方-5-8 �

No.254A余両方-5-8 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 383.73÷ 0.82 (2) 84.935÷ 0.24

(3) 4.2953÷ 0.047 (4) 4812.3÷ 9.1

(5) 61.689÷ 0.036

� 13th-note �



� No.254A余両方-5-8 �

No.254A余両方-5-8 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 383.73÷ 0.82

467.9 · · · 0.052

(2) 84.935÷ 0.24

353.8 · · · 0.023

(3) 4.2953÷ 0.047

91.38 · · · 0.00044

(4) 4812.3÷ 9.1

528.8 · · · 0.22

(5) 61.689÷ 0.036

1713 · · · 0.021

� 13th-note �



� No.254A余両方-5-9 �

No.254A余両方-5-9 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 211.21÷ 5.6 (2) 109.49÷ 3.7

(3) 358.43÷ 7.9 (4) 93.944÷ 0.081

(5) 6411.1÷ 4.3

� 13th-note �



� No.254A余両方-5-9 �

No.254A余両方-5-9 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 211.21÷ 5.6

37.71 · · · 0.034

(2) 109.49÷ 3.7

29.59 · · · 0.007

(3) 358.43÷ 7.9

45.37 · · · 0.007

(4) 93.944÷ 0.081

1159 · · · 0.065

(5) 6411.1÷ 4.3

1490 · · · 4.1

� 13th-note �



� No.254A余両方-5-10 �

No.254A余両方-5-10 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 74.326÷ 0.097 (2) 2946.4÷ 9.6

(3) 549.45÷ 0.39 (4) 44.725÷ 0.36

(5) 5414.4÷ 1.9

� 13th-note �



� No.254A余両方-5-10 �

No.254A余両方-5-10 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 74.326÷ 0.097

766.2 · · · 0.0046

(2) 2946.4÷ 9.6

306.9 · · · 0.16

(3) 549.45÷ 0.39

1408 · · · 0.33

(4) 44.725÷ 0.36

124.2 · · · 0.013

(5) 5414.4÷ 1.9

2849 · · · 1.3

� 13th-note �


